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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Distinguish between static and dynamic analysis. 

Explain the merits and demerits of static analysis. 

LFkSfrd ,oa izkoSfxd fo’ys‛k.k ds e/; Hksn dhft,A LFkSfrd 

fo’ys‛k.k ds xq.k&nks‛kksa dh O;k[;k dhft,A 

2. Explain „Returns to Scale‟. Give reasons for the 

operation of increasing returns to scale.  

^iSekus ds izfrQyksa* dks le>kb;sA c<+rs gq, iSekuksa ds 

izfrQyksa ds ykxw gksus ds dkj.kksa ij izdk’k Mkfy,A 

3. Critically explain the Ricardian theory of rent. 

fjdkMksZ ds yxku fl)kUr dh vkykspukRed O;k[;k dhft,A 

4. What is Pareto Optimality ? What are the conditions to 

its attainment ? 

iSjsVks vuqdwyre fLFkfr D;k gS \ blds izkIr gksus dh D;k 

‘krZ gSa \ 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the characteristics of Indifference Curve. 

vuf/keku oØ ¼mnklhurk oØ½ dh fo’ks‛krkvksa dks le>kb;sA 

2. Discuss the concept of „consumer surplus‟. 

^miHkksDrk dh cpr* dh /kkj.kk dks ifjHkkf‛kr dhft,A 

3. Explain the Marginal Rate of Technical Substitution 

(MRTS). 

rduhdh izfrLFkkiu dh lhekUr nj (MRTS) dh O;k[;k 

dhft,A 

4. How are prices determined under monopoly ? 

,dkf/kdkj ds vUrxZr ewY; fu/kkZj.k fdl izdkj gksrk gS \ 

5. Explain the conditions of perfect competition. 

iw.kZ izfr;ksfxrk dh ‘krks± dh O;k[;k dhft,A 

6. Distinguish between Rent and Profit. 

yxku vkSj ykHk esa foHksn dhft,A 

7. Write a short note on Liquidity Trap. 

uxnh ¼rjyrk½ tky ij ,d laf{kIr fVIi.kh fyf[k,A 

8. Define Modern theory of wage. 

etnwjh ds vk/kqfud fl)kUr dks ifjHkkf‛kr dhft,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. The Law of Diminishing Marginal Utility was given  

by : 

(a) Hicks 

(b) Gossen 

(c) Jevons 

(d) Marshall 

kleku lhekUr rqf‛V xq.k ¼mi;ksfxrk½ fu;e fdlus fn;k  

Fkk \ 

¼v½ fgDl 

¼c½ xkSlsu 

¼l½ tsoUl 

¼n½ ek’kZy 
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2. The other name of average revenue (AR) curve is 

known as : 

(a) Profit curve 

(b) Demand curve 

(c) Philips curve 

(d) Indifference curve 

vkSlr vk; (AR) oØ dks vU; nwljs ,d uke ls tkuk 

tkrk gS % 

¼v½ ykHk oØ ls 

¼c½ ek¡x oØ ls 

¼l½ fQfyIl oØ ls 

¼n½ rVLFkrk oØ ls 

3. If the demand curve is parallel to X-axis, then demand 

will be : 

(a) Perfectly inelastic  

(b) More elastic 

(c) Perfectly elastic 

(d) Less elastic 

;fn ek¡x oØ X-v{k ds lekUrj gks] rks ek¡x gksxh % 

¼v½ iw.kZr;k csykspnkj 

¼c½ vf/kd ykspnkj 

¼l½ iw.kZr;k ykspnkj 

¼n½ de ykspnkj 

4. Under perfect competition price is determined by : 

(a) Firm 

(b) Efficient firm 

(c) Group 

(d) Industry 
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iw.kZ izfr;ksfxrk esa ewY; fu/kkZfjr gksrk gS % 

¼v½ QeZ }kjk 

¼c½ dq’ky QeZ }kjk 

¼l½ lewg }kjk 

¼n½ m|ksx }kjk 

5. Price discrimination is the characteristic of : 

(a) Monopoly 

(b) Oligopoly 

(c) Both (a) and (b) 

(d) Perfect competition 

ewY; foHksnhdj.k ,d izeq[k vfHky{k.k gS % 

¼v½ ,dkf/kdkj dk 

¼c½ vYikf/kdkj dk 

¼l½ ¼v½ ,oa ¼c½ nksuksa dk 

¼n½ iw.kZ izfr;ksfxrk dk 

6. Under monopoly a firm will always occur in the long 

period : 

(a) Normal Profit 

(b) Loss 

(c) Abnormal Profit 

(d) Market Profit 

nh?kZdky esa ,dkf/kdkj ds vUrxZr ,d QeZ lnSo vftZr 

djsxh % 

¼v½ lkekU; ykHk  



 [ 7 ] S-726 

 A-38           P. T. O. 

¼c½ gkfu 

¼l½ vlkekU; ykHk 

¼n½ cktkj ykHk 

7. Who has propounded the revealed preference theory ? 

(a) Marshall 

(b) Hicks 

(c) Dupit 

(d) Samuelson 

mn~?kkfVr ¼izdfVr½ vf/keku fl)kUr dk izfriknu fdlus 

fd;k gS \ 

¼v½ ek’kZy us 

¼c½ fgDl us 

¼l½ M~;wfiV us 

¼n½ lSE;qylu us 

8. Which of the following relations is correct ? 

(a) MPP = MRP × MR 

(b) MPP = MRP + MR 

(c) MRP = MPP × MR 

(d) MRP = MPP + MR 

fuEufyf[kr esa ls dkSu&lk lEcU/k lgh gS \ 

¼v½ MPP = MRP × MR 

¼c½ MPP = MRP + MR 

¼l½ MRP = MPP × MR 

¼n½ MRP = MPP + MR 
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9. The  concept of „Social Welfare Function‟ was 

propounded by : 

(a) Pareto 

(b) Pigou 

(c) Bergson 

(d) Kaldor 

^lkekftd dY;k.k Qyu* dh /kkj.kk izfrikfnr dh x;h % 

¼v½ iSjsVks }kjk 

¼c½ ihxw }kjk 

¼l½ cxZlu }kjk 

¼n½ dkYMksj }kjk 

10. Production function is related to : 

(a) Input and output 

(b) Demand and supply 

(c) Profit and loss 

(d) Cost and benefit 

mRiknu Qyu lEcfU/kr gksrk gS % 

¼v½ vkxr o fuxZr ls 

¼c½ ek¡x o iwfrZ ls 

¼l½ ykHk o gkfu ls 

¼n½ ykxr o ykHk ls 
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